
https://www.geekcert.com/1z0-475.html
2024 Latest geekcert 1Z0-475 PDF and VCE dumps Download

 

 

 

1Z0-475Q&As

Oracle IT Architecture SOA

Pass Oracle 1Z0-475 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-475.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-475 VCE Dumps | 1Z0-475 Study Guide | 1Z0-475 Braindumps                                1 / 3

https://www.geekcert.com/1z0-475.html
https://www.geekcert.com/1z0-475.html
https://www.geekcert.com/1z0-475.html


https://www.geekcert.com/1z0-475.html
2024 Latest geekcert 1Z0-475 PDF and VCE dumps Download

QUESTION 1

While analyzing the business requirements, you identify some cross-cutting functionality that does not carry any
business context or have an affinity to any specific application. To which service layer classification does the Service
you develop to fulfill this requirement belong? 

A. Connectivity Service 

B. Data Service 

C. Business Activity Service 

D. Utility Service 

E. Presentation Service 

Correct Answer: D 

 

QUESTION 2

An IT organization already has a mixture of products that they are using for their application integrations. They want to
map their products onto the service-oriented integration architecture. What guidance do you give them for
accomplishing this task? 

A. The capabilities in a product are identified and then the product is mapped to the architecture based on those
capabilities. A product can map to more than one layer of the architecture. 

B. The capabilities in a product are identified and then the product mapped to the architecture based on those
capabilities. The product is mapped to the layer of the architecture where the most capabilities lie. 

C. A product is compared to the Oracle products that are already mapped onto the architecture. The product is mapped
onto the architecture as a replacement for the most similar Grade product, 

D. A product is compared to the Oracle products that are already mapped onto the architecture. If the product provides
all the capabilities of an Oracle product, the product replaces that Oracle product. 

E. Products are not directly mapped onto the architecture; only the capabilities provided by the products are mapped
onto the architecture. 

Correct Answer: A 

 

QUESTION 3

What are the two key differences between SOA infrastructure and traditional infrastructure? 

A. SOA infrastructure does not need to provide monitoring and management capabilities whereas, traditional
infrastructure does. 

B. The highly distributed, heterogeneous nature of SOA attempts to bring a number of disparate moving parts together,
making it more complex naturally. 
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C. Traditional infrastructure is based on standards, allowing you to choose from various products and vendors which are
best suited to meet your requirements. 

D. Services are more granular than applications. So the infrastructure should be able to support the distribution,
deployment, discovery, and management of these granular artifacts. 

Correct Answer: BD 

 

QUESTION 4

One of the goals of your newly formed SOA initiative is for business persons to support business-level service
composition. Which option best supports your goal? 

A. Services must include a formal contract that specifies the functional and non-functional capabilities provided. 

B. Employ a Service naming strategy that details what functionality the Service delivers. 

C. Deploy a Service Repository that classifies Services by the name of the back-end system where the implementation
code resides. 

D. Assign a Business Architect from the SOA COE to support a group of business persons. 

Correct Answer: A 

 

QUESTION 5

Which two statements describe SOA Governance relationships? 

A. SOA Governance integrates with and extends IT Governance 

B. SOA Governance directly aligns with Corporate Governance 

C. SOA Governance ignores IT Governance 

D. Cloud Computing Governance dictates SOA Governance 

E. EA Governance Influences SOAGovernance 

Correct Answer: AB 
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